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Code-C

Questions

Three of the following four are alike in certain way and form a group.
Which one does not belong to the group ?

(1) Crowd (2) Flock

(8) Swarm (4) Team
-ﬁwﬁ@amﬁﬁﬁ#ﬁaﬁﬁaﬂ%@?@wwﬁ%ﬁﬁwquﬁmﬁ
Ear ?

(1) = ) g=

@) = @ =

A number series is given with one term missing. Choose the correct

alternative to fill the blank

11,18, 17, 19, 23, 25 (........) |

a 2 - . @ 27

(@ 2 | 4) 31 .
& g w5 de S ¥ 0w T ¥R g Pl 3 @ g o
113179928 26C. - - ' '

1) 2 : S

3) 29 | @ 31 %

If ENTRY stands for 1, 2, 3, 4; §.and STEADY stands for 931785. Then
TENANT will stand for ' |

(1) 956169 (2) 196247  (3) 352123 (4) 312723

st ENTRY s 2 1,284, 5 G?RSTEADYW% 931785 @& TENANT frea
qUSR &F ? '

(1) 956169 (2) 196247 3 352123 (4 312723 |
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Question
No.

Questions

4.

If cloud is called black, black is called rain, rain is called green, green
is called air, air is called blue and blue is called water. Where the birdé will|-
fly ? =

(1) Air (2) Blue (3) Black (4) Cloud
I I Y H el A, B B G Fel A, T A o, ﬁaﬁmwaﬁ
zar 3 Hen e o, A A B O T o & o Fw 9T ? |

(1) =& - (2) (3) @ (4) sEw

A person showing a photograph of a boy tells his friend that he is son of my}
brother. How the boy in the photograph is related to this man ?

(1) Nephew (2) Brother

3) Brother in law (4) Uncle
@ﬁﬁﬂtﬁéﬁr@ﬁ@ﬁ@@mwmﬁw%ﬁs%ﬁhﬁﬂaﬂ%tm
% R 3% o qew 99 ol ¥ W wErEd & ?

(1) e (2) &

(3) ®mm (4) =m=n

C is A’s father’s nephew. D is A’s;cousin but not brother of C. How D is
related to C ?

(1) Father 5 (2) Sister
(3) Mother (4) Aunt

!i

i A%ﬁmmﬂaﬁm%m Awaﬁn%éﬁﬁCWqﬁqﬁ%Deﬂ'{C%ﬁmﬂ%?

(1) ﬁm (2) s&F
(3) = @) ==
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Question .
No. QuestloFs =
7. | SixpersonsA,B,C,D,Eand Eand F are standing in a circle. B is between F

and C: A is between E and D ; A is to the left of D. Who is between A and F
if C'is on the right of B ? it :

1) B 2 C @) D 4 E
8:GTR'HTA,B,C,D,E@TF@WW&@?%IB,F@TC%Wﬁ%IA,E@TD
%ﬁa’%lA,D%a@m%:A@TF%aﬁaﬁﬁmmC,B'%m%fﬂcﬁ%?

(1) B 2 C ' 3) D 4 E

8. | Ramesh ranks thirteenth in a class of thirty one. What is his rank from the
last ? : ; =
(1) 15th (2) 17th .
(3) 1%th : (4) 20th ;
31 = 2 T & O B W 18 & ¥ 39 98 ¥ $ @ W & ?
(1) 154 (2) 174
Q) 194 (4) 20
9. | Choose the best alternative
Danger always involves
(1) Enemy (2) Fear
(3) Attack (4) Help
ge orest fT g
TR T R A B ¢ ¢
M @ =¥
(8) wmFT | (4) wEET
10.

Which word will come first if organised in a dictionary ?

(1) defer (2) delude
(3) delinium * (4) demean
e ¥ o B9 § T W a1 ) i A ?
(1) defer (2) delude
(3) delinium (4) demean
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Q“I%S:f‘m Questions |

11. | How 4.5 can be expressed in terms of percentage ?
(1) 450% @) 45%
(3) 4.5% Lo () 0.45%
4.5 F IR 7§ 3 T F4 ?
(1) 450% @ 45%
(3) 4.5% : - (4) 0.45%

12. | The difference between a number and its three fifth is 50. What is the
number ? :
(1) 1005 @) 125
@ 7 (@) 250
Wﬂ@fﬁ?aﬂ%%ﬁﬁﬁﬂ%f?ﬁﬁw-m%ﬁmméﬁﬁ?
(1) 100 (2) 125
3) 7 : (4) 250

13, | What is the average of 76,65,82,67 and 85 ?
1) 69 @ 72
(3) 53 4) 75
S e #1 S 740 % 7 76, 65,82, 67 AR 85 7
(1) 69 'H @ T2
3) 53 4 175

14. | How many pieces of 95;11;3 length can be cut from 142.5 meters leﬁgth ?
(1) 140 (2) 150 ‘
(3) 165 g ) 176
142.5 41X s # @ 95 A7, B R g8 w2 o WA ¥ 7
1) 140 @) 150
(3) 165 @ 175
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Questi .
“No_"“ Questions
A 29 : g R
15. | How the fraction 102 100000 a0 be written m decimals. }
(1) 102.00029 (2) 01029
(3) -10229 " (4) 10.200029
= : 29
?
wmﬁ‘mﬁ%ﬁﬁi@ﬂiﬁa% 7 102
(1) 102.00029 (2) 01029
(3) -10229 (4) 10.200029
16. | Which is the greatest number that exactly divides
105, 1001 and 2436 '
1) 3 (27 3) 9 4 11
F-8 w9 S0 Wew ¥ S 105, 1001 o 2436 H QU A3 TG & 7
1) 3 @ 7 @3) 9 @ 1 |
17. | What is the highest common factor (HCF) of 2923 and 3239 ?
1 72 @ 7 (3) 49 4 33
2923 3R 3239 @ ey FHads (HCF) #i @ 7
(1) 72 @ 79 3 49 (4) 33
18. | What is the lowest common multiple (I:CM) of 148 and 185 ?

(1) 740 (2) 680
(3) 2590 -(4) 3715
148 3% 185 1 wgeH gaw o (LCM) 71 8 ?
(1) 740 (2) 680
(3) 2590 @) BT
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“lf;:f.i‘m Questions

19. | What is the smallest number that must be added to 803642 to obtain an
exact multiple of 11. |
(1) 3 (el 3) 9 4 1
%mmﬁa@aﬁw%a‘rsosemmsﬁ 11 8 g0 &% 917 & waeht 2 7
1 3 @ 7 e A

20. | On div.iding 4151 by a certain number, the quotient is 55 and remainder is
26. What is the divisor ?
(1) 65 @ 75 (3) 80 4 25 |
4151 % Rl He & 97 3 W w55 ST & &R 26 A T T ¥ 78 7 33 At ey
w7 : |
() - 651 2 7 3 8 4 25

21. | Who expressed the following opinion ? Next to nature the child should be
brought into touch with the stream of social behaviour.
(1) Dr.Zakir Hussian (2) Dr.Radha Krishnan
(3) Rabindranath Tagore (49 Mahatma Gandhi
Pt e R et Rt 7 gl & e s 9 s e 4 g 3 e
¥ qm =iy 1 |
(1) . ST gde (2) . v o
(8) s Hiw (L @ e i

22, | Who expressed the following views — ‘Teacheris a Philosopher, friend and
guide, helping the educant, to forward in his own way’ ?
(1) SwamiDayanand (2) Swami Vivekanand
(3) Jawahar Lal Nehru (4) None of the above -

ﬁﬁanﬁm%ﬁir?‘ﬁw‘@mﬁ,ﬁawmmﬁs%vﬁmﬁméﬁa

IR BN % R weEar ger g § 2 .
1) @ @ : ©2) @l REE
(8) R & Y& @) ¥ & FE &

PG-EE-2013 (Education) Code-C
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Question

No. Questions

23. | ‘Shanti Niketan’ principle of education of children is
(1) Gurukul Education .(2) Education in natural setting
(3) Aashram Education (4) Normal School Education
‘i e 7 gl o R # R ¥
(1) To% fRwEm C (2 g @ iR § REn
(3) -3z : ' (4) =g feEeE Rer

24. | Who expressed the following views ? “The idea of hammering the child in
to shape desired by the parents or teacher is a barbarious and ignorant
superstition.”
(1) Swami Vivekanand (2) Swami Dayanand
(3) Shri Aurobindo Gosh (4) Rabindranath Tagore
“mqﬁw—ﬁmmmqﬂs@www—aﬁsﬂmw@w%r’%w
R e R ?
1) w@WH R (2) @it A=
(3) it = Hiy (4) W AR

25. | Which educationist has stressed natural freedom of child while learning?
(1) Mahatma Gandhi (2) Rabindranath Tagore
(3) Shri Aurobindo Gosh (4) Swami Vivekanand
o R amelt § Wew 7 = 6 g e | oaw R g
(1) were e | (2) FiseTT SR
(3) & = Ay (4) @ REeEs

26. | Who expressed the following views ? ‘The teacher is not an instructor or

task-master, he is helper and guide’. :

(1) Swami Vivekanand (2) Shri Arvindo Gosh

(3) Mahatma Gandhi (4) Swami Dayanand

ﬁﬁqﬂaﬂmﬁgﬁwﬁﬁ? Torers s aroan w@rdt 78 § oty 9 Saw gens qu
§

(1) @l fRer= - (2) 4 RfE=l a9y

(3) @ (4) @t EE=
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Question -
g Questions _
27. | Who expressed the following views ? ‘Education is the manifestation of the

perfection already reached in man’.
(1) Shri Aurobindo Gosh (2) SwamiDayanand
(3) Swami Vivekanand a2 (49) Mahatma Gandhi

3 e Bhe et B 7 R o@ wFRa efer &1 st & S we F oe @ R
Tae o |

(1) o R Ay | @ wmh T
(3) = PR (4) e T
28. | Who believed. ‘The chief aim of education should be to help the growing
soul to draw out that in itself which is best and make it perfect for a noble
use’ 7. _
(1) Mahatma Gandhi (2) Vinoba Bhave
(3) Shri Aurobindo Gosh (4) Prof. Yashpal
7% et A © - R P ger SRed B fee B R @ areh et o R
HCN S IHH FeiT B I e N a0 I IS w5 B RA-gef s
(1) wereE i ©2) foEr a@
) & o Gy (@) 9w
29. | Who expressed these views ?_‘You’ ‘will have to be practical in all spheres of

work. The whole country has been ruined by mass theories’.

() SwamiRamTirth =  (2) SwamiDayanand

(3) Baba Shahib Ambedkar (4) Swami Vivekanand

3 e e o [ 2 g B 3 s A adee s we | w39 A
Rrar=it & 33 7 e fear By

(1) @ T . (2 @ s

(3) dmr Hifesd Sr=EER (4) @i R
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RQuestion :
No. . Questions
30. | Who expressed these views ? ‘I consider that the great national sin is the

neglect of masses and that is one of the causes of our downfall’

(1) Swami Vivekanand (2) Swami D_ayanangl

(3) JawaharLal Nehru (4) Sardar Patel
3 BER Ree g Bl ? CH o AR @ SrRa ST e TS U9 qeEE §
AR I8 SR Yo B g FOT 1

(1) @ e 2 w@WH W=
(3) TR W AE& (4) TER RE
31. | Who started ‘Jawahar Rozgar Yojana’ ?
(1) Jawahar Lal Nehru (2) RajivGandhi
(8) Indira Gandhi (4) Dr.Manmohan Singh
SATeT JorIE Aorel et g Y 7 '
(1) am T Tee (2) el i
(8) e i (4) =1 T Rie
32. | What is the currency of Bangladesh ? : _
| 1) Rupee (2) Taka (3) Dollar (4 Yen -
SR B G RN 7 ¢ 5 e
Q @ (@ T @ W= @ W
33. | Who started the Twenty Point Programme ﬁrst R _
1) Ra,uy Gandhi 2 JawaharLalNehru
(3) Indira Gandhi (4) Narsingha Rao
e g wE R R g B ? SRl
(1) Tl i _ (2) AR A9 TG
(3) e i (@) TRE e
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Q“I‘:Tstf“” Questions

34. | Which of the following is called ‘Red Planet’ ?
(1) Mars (2) Jupiter
(3) Venus 4) ISaturn
fraffea & & R ‘@ e’ e o B 7 |
(1) @ wEm
3 @ R

85. | Who is the first Indian to go in space ?
(1) Rajesh Malhotra (2) Rakesh Sharma
(3) C.V.Raman (4) Hargobind Khorana
Y GE0 FRe I 9 ARG B 8 ?
(1) St e @) v
3) - AT “ (4) s GO

36. | Which of the following countries is located near Atlantic Ocean ?
(1) Russia (2) America
(3) Australia " (@) Indonesia
ﬁwﬁiﬁqaffﬁaﬁwméwmﬁwm%ﬁmﬁaﬁ%?
(1) =g S 2 s

1) i - @ vRm
© 37. | Which is the only Hindu state in the world ?

(1) SriLanka : : {(2) Nepal
(3) Bhutan (4 India
P ¥ B A R U} 7 , '
1) 5w @ Y
(3 A @) Wd

PG-EE-2013 (Education) Code-C
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RQuestion
No.

Questions

38.

Which crop is most grown in the United States of America ?
Q) Basker @ Maize

o e (4) Wheat

g T AR A e wed oY IS S & 7

@ = . (@ W

(3) TEd @ W

39.

Which of the following is a Kharif Crop ?
(1) Wheat (2) Barley (3) Mustard (4) Jute
Frefifeg § § P99 @0 w99 & 7

40.

O % 2 = (3) wE @4 T

Which game is connected with Wimbledon _

(1) Cricket (2) Table Tennis (3) Badminton (4) Lawn Tennis
Fraffed & B0 @l wEw § 7 i

W) B (@ WaPw @ WhE (@ I Fw

41.

Which country is not a member of the UN ?

(1) Nepal '(5) Iran

(3) Switzerland (4) Denmark
ﬂﬁm'%mégaﬁwwmqﬁ%??

(1) o : | 2)

(3) Regrds () e

- PG-EE-2013 (Education) Code—C
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Q“;’f‘m Questions

42. | Which of the following is a natural fibre ?
(1) Cotton : (2) Rayon
(3) Nylon | (4) Terylene
Frifefrs & i a1 e s & 7 :
() = @ um
(3) T (4) &=

43. | Which of the following causes rusting of iron ?
(1) Oxidation = . (2) Reduction
(3) Evaporation 4) Combﬁstion
Fraffe & & @9 @ e AR F o e 8 2
(1) it (2) Rmes (z@)
(3) amdHT (4) s

44. | Kilowatt is the unit of
(1) Heat (2) Speed
3) Power (4) Weight
ResiraTe R g & 7 i
(1) @ e LD
@ o @ W™

45. | Red Blood cells are formed in |
(1) Liver 3 (2) Kidneys
(3) Gall-bladder | (4) Bone-marrow
e R i e § ad E |
O o @ F
(3) R ¥ (4) g Hon

PG-EE-2013 (Education) Code-C
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Q“;*‘f“ Questions
46. | How heat of sun reaches to Earth ?
(1) Conduction (2) Radiation
I 3) Copvection | (4) Evaporation
o 2 T el A g B 7 :
00 o SR @) RifE
@) daeT @ e
- 47. | Who was the saint of Bhakti Movement in Bengal ?
(1) Kabir @ Tulsidas
(3) Surdas (4) Chaitanya
T & 9R6 B & G B A 7 ‘
) = | @) g
@) T - 4) ¥
48. | Which of the Sikh Gurus was killed by the orders of Aiu.'_angzeb ?

(1) GuruRam Das S
(2) Guru Gobind Singh : |
(8) GuruTegBahadur
(4) Guru Hargobind

mmﬂﬁﬁm%wﬁwwm?

- —"
s

1) 76 T W
2 75 M= Rz

(3) TG o Tw@IRT
4) gssvhﬁ-q'

PG-EE-2013 (Education) Code-C
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Question
No.

Questions

49.

Who colonized Goa first ?

(1) Portuguese (2) French
(3) Dutch (4) Italian
et 9 e & st e o ? s
(1) gt 2) i
@) == - (4) i

50.

Who got ‘Char Minar’ built ?
(1) Sahajan

(2) QuliQutubShah

(3) Jahangir '

(4) Sher Shah Suri

IR AR e a9 o ?

(1) em=sE

(2) M g

(3) iR

(4) e

51.

V is taller than R but shorter th’én A. J is taller than A. S is taller than
V. R is shorter than S. Who is the shortest of this group ?

ay-s . - @ J

3 A @ R
V.Ra'w,%aﬁwAa"@a%lJ,AéwalS,Vﬁw%:R,Sﬁ@a%nsmgs
§ ge9 Bier 3 & ?

1 s e @ J

3 A ' @ R

PG-EE-2013 (Education) Code-C
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Quﬁsfon : Questions

52. | How many squares are there in the following figure ?

(1) 16 2y I 3) 28 4 30
Rrer o & P i 8 2

Q) 16 @ 17 3) 28 @ 30
53. | Which will be the next ? :
' s
ST 4 B 7 i
; - «IE' ?
e P
] > = -
TSI & = e
s = = =
o = =2 =

"PG-EE-2013 (Education) Code-C
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No. Questions
54. | Choose the alternative
Ao X xXopn ==+ ¢
=
e o 2
s as B - F |+ - e
22 %
7 9 = = -
fea g |
Ao X XOA |-——F ¢
o -E" "
S R i g e
e = + e
3 e 2 e

55.

Choose the mirror image of the following : MOB

(1) goMm

2 OB

frt &1 o offe g3 : MOB

(1) gom

(2) WOB

@) wog

(3 wog

@ BOW

(4 BOW

PG-EE-2013 (Education) Code—C
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56. | Which number will be placed at the sign of interrogation ?

1 20 @ 27 - @ % @

A% g ot ® R A @ der o ?

0 - 7 ! 5=
gl & -G

M2 @ Z @ % @ B

.57. Which number can be placed at the sign of interrogation ?

08 A% q,. 2,0 \
2N e = Ge)
p o 42 G+
(1) 60 @ 69"
3 49 (4) 50
a9 R % M W T dea o w7
I AN a9
2y ()33
43
(1) 60
3 49 (4) 50

PG-EE-2013 (Education) Code-C
- : (17)
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“gﬁi‘m - Questions

58. | What will be mirror image of MOUTH ?
(1) MOUTH : (20 WOULH
3) MONTH : 4 WONLH
MOUTH = &dvr afafers a1 &y ?
(1) MOUTH (2) WOULH
(3) MONTH 4 WONLH

59. | Yes is related to no in the same way Alive is related to

(1) Funeral (2) Dead

(3). Live (4) Birth

§ & T ¥ e ¥ o v it R gt 2
(1) omr @ W

(3) B _ 4) s

60.

Which of the following sentence is a fact ?
1  Foxisacunning animal.

2  There are seven days in a week.

3  There are seven stages of hﬁn};an life.

4 A thing of beauty is a joy for ever.

1 4 23 . el -
Preafofae & & @ a1 s qe § 7

1 - dmel = ug R

2 @mﬁmﬁﬁ?{aﬁ%l

8 5g% 3 e § ar s A ¥

4 wgﬁia@ﬁmg‘-‘eﬂ-ﬂaﬁm%l

D4 .= @3 @ 1 9 2

PG-EE-2013 (Education) Code—C
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Q“ﬁsf"“ | Questions

61. | Who founded Agra City ?
(1) RanaSanga (2) Sikandar Lodhi
(3) Jahangir (4) Sahajan
AFRT AEX 9 R ) ?
(1) om & 2) Re=yand
(3) SR @ e

62. | Who was the last Governor General of India ?
(1) Lord Dalhousie (2) Lord Mountbatton
(3) Rajagopalachari (4) Acharya Kriplani
R B A TR S A 7 |
(1) @ s@Esh (2) e AEeRe
(3) TeFNETETY @) A FIAF

63. | Who raised ‘Inquilab Zindabad first ?
(1) Lokmanya Tilak (2) Veer Savarkar
(3) Udham Singh _ (4) Bhagat Singh
ST RIRTEIE A Gedt R T ? 4
(1) S s @ ¥R T
(8) uw fHe _ (4) wm fie

64. | Where from Mahatma Gandhi started ‘Civil Disobidience Movement’ ?
(1) Sabarmati (2) Wardha
(3) Secvagram (4) Porbandar
TR M 9 AT R Fe @ g R ?
(1) |l (2) arem
(3) Hemm 4) dE=x

PG-EE-2013 (Education) Code-C
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No.

Questions

65.

Who is known as the Father of Indian Constitution ?

(1) Dr.B.R. Ambedkar (2) Mahatma Gandhi

(3) Jawahar Lal Nehru (4) Dr.Rajendra Prasad
WA HRUM &1 5% D S S @ 2

(1) = R, = . (2) were e

B) AR T Jew @) =1 T FEE

66.

Pfesident’s Rule can be imposed on a state for a period of :

67.

68.

(1) - 3months (2) 6months
(3) 9 months (4) 12 months
Ty e Rl o W R orafy 9% e S wear B 7
(1) 3 #Em (2) 6 =N

(3) 9 =M (4) 12 #ém
Which of the following ison ‘C_onc'urrent List’ ?
(1) Finance (2) Education
(3) Petrolium (4 Coal
ﬁﬂﬁff@aﬁﬁiﬁﬁmwﬁ@ﬁ?f

(1) f= | (2) Rer

@) Wk 4 (4) Fa

Hovsi many Presidenigs;f’xave so far been elected in India ?
1 9 © ' @) 7

3) 13 - 4 11
aﬁwwﬁﬁmﬁ_mgﬁ@%?_

(1) 9 P

(3) 13 S @ 11

PG-EE-2013 (Education) Code-C
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Q“ﬁso"f"“ Questions
69. | How many miles India’s ‘Economic Zone’ extends to its coast ?
). 100 . 2 150 :
(3) 200 (4) 250 sy
ARAY T | feaw A g o onfle S A o @ 7
(1) 100 (2) 150
(3) 200 4) 250

= 70. | Which is the largest Public Sector Bank in India ?

(1) Central Bank (2) Dena Bank
(3) State B_ank of India (4) Punjab National Bank
T FEd ae watE S A AW R
(1) =% (2) JNTH
(3) e Re ¥ (4) " JEa =
71. | On what date Swami Dayanand founded Arya Samaj at Bombay ?
"1 (1) 10April 1875 (2) 300ct, 1883
(3) 10April, 1838 (4 05 Qct, 1875
el e A o w6 e aE R R o ?
(1) 103D,1875 (2) 30 9RY, 1883
(3) 108w, 1838 (4) ' 05 IR, 1875
72. | Mahatma Gandhi expressed that medium of education should be
(1) Hindi % (2) Mother Tongue
(3) English (4) Gujarati
WA e 7 g A 6 R @ e & Aty
@ et . (2 Wy W
(3) st @) T

PG-EE-2013 (Education) Code-C
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75.

Q“ﬁs;_i"“ Questions

73. | Who expressed that a man without education is only a man in name ?
(1) Mahatma Gandhi ~ (2) SwamiDayanand
(3) Rabindranath Tagore ' (4) Dr.Radha Krishnan
3 e fan o R - R & R age da9a T 9 agE R 7
(1) = @ wr T
(3) Wz T TR @ & Al

74. | According to Mahatma Gandl:u one mportant aim of education is :
(1) Character b_mldmg
(2) Getting English education
(3) Fulfilment of individual needs
(4) Learning of rﬁother tongue
TRl T B ar:;m Rt 1 TeE a%'w 2
(1) =Re e
(2) SR REm o &
3) @™ get @ g T
(4) oIg o e ‘
Who expressed this c&pinionI f‘iBrathmc]::uau-ya, if observed, cox_iduces to

strength of body, n:und and saul” ‘s ==l :

(1) Mahatma Gandhl (2) Shri Aurobindo Gosh

(3) Swami Dayanand o (4) ‘Vivekan:and 5

¥ R Reed s e “ﬁwﬁamﬁmwmﬁrﬁﬁrwﬁm
AftTss T S H S Tge &7 7

(1)%1341%51' i (2 ot oRiEw A9y

(3) wrh = (@) Aw=
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76. | ‘A student should earn while learning and learn while earning’— was the
opinion of :
(1) SwamiDayanand (2) Dr.RadhaKrishnan
(3) Mahatma Gandhi .~ (4) Rabindranath Tagore
‘w ferdl @ @R g F AR A gY Wew AR - 98 famn e o
(1) @=rft a@EF= @) &t wE FFH
(3) W Wi (4) T EIR

77. | In the opinion of Swami Dayanand education should be upto the age of
following years. : '
(1) 25 years : (2) 35vears
(3) 16years (4) 18 years
@ T 3 REr § R @ oy Pl @ e A
(1) 25a (2 35ad
(3) 163% | (4 18ad

78. | Who advocated separate schools for boys and girls ?
(1) Dr.Zakir Hussian ~ (2) Mahatma Gandhi
(8) Aurobindo Gosh (4) SwamiDayanand
Rr ed o aeRRl B o Rl & W A o RER R ?
(1) = oI gl @) wew TR
() iyl 9w : (4) - @i AE= _

79. Who expressed this opinion “By education I mean an all round drawing

out of the best in child and man, body, mind and spirit” ?-

(1) Jawahar Lal Nehru - (2) SwamiDayanand

(3) Swami Vivekanand (4 Mahatma Gandhi

7% foar fFem e foa, ¢ mﬁﬁnmﬁ%waﬁw@w%mqﬁmaﬂ?

_mﬁqﬁaﬁaﬁaﬂﬁqgﬁma@ﬁﬁm”?

(1) AR d@ 7S -~ zarﬁ?aaﬁ-—q'

| @) w@rlt EeR=< ' (@) e T
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- Code—(
uesti : :
I‘:To. s Questions :
Accordmg to Mahatma Gandhi the curriculum for boys and girls should be

same up to:
(1) Fifthclass (2) Tenthclass
(3) Pre-School stage ; (4) Atall stages |

T T & ST S N TR w1 g Py s T @ S am
(1) T e @ e w

() P g R @) = w
81. | Find the similar relat10nsh1p in the palrs
Herbivore : : Carnivore : :
(1) Animal: Plant (2) Leaves: Flesh
(3) Pigeon: Crow (4) Lion: Elephant
e e T AT e g '
SRR : e
) T ;o o /@) o o
(3) . T : plaw @ x: El?ﬁ
82. | As pearl is related tovoj.r;éter tlleﬁ brain is related to :
(1) Thinking @ Cranium
3) Soul S s @) Intelligence
R 5 & Al e & Fafed ¥ 90 s Ak @ w
(1) €=+ @ M) ast |
@ smmd @ =i
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83. | Select the word related to the given group
Iron, Zinc, Copper
(1) Sulphur (2) Iodine
(8) Aluminium (4) Chlorine
B2 1 o ¥ Tfaq o= Tad |
(1) s (2) IR
(3) uwyhEm S (4) T
84. | Choose the word which is not like the other words in the group
| (1) Jaipur (2) Bhopal
(3) Shimla (4) Mysore
g8 9% BT St gt RY 1 gl 3 aE @ o B
| @ s @
@) R @
85. | In the given four words three are related in one way or the other. The
| fourth word is different. Find the different word.
(1) Cow (2) Goat
(3) Buffalo - (4) Lion
ﬁﬁ@aﬂwﬁﬁﬁﬂﬁaﬁﬂaﬁﬁlﬁmwﬁﬁ%iﬁﬁw@m
(1) 9 e Ases 2 =wd
@ ¥ e
86. | Given are names of some instruments three are similar. Find the fourth|

one different.

(1) Thermometer _ (@) Meter

(3) Heater (4) Litre

R 7 A A P o 21 o e o 2 9 T
(1) e : @ W

@) @ (@) 9=
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87. | Choose the dissimilar pair
(1) Lion : Roar (2) Birds : Chirp
(3) Bees:Hum . (4) Frog: Jump
e gt A i @ el
(1) 9 : @ 2) @it : e
(3) #fveai:REREET (@) Few g

88. | Choose the pair where words are differently related ' |
(1) Saw: Wood (2) Pen: Paper
(3) Chalk: Chalkboard - (4 Water : Drink :
& Sl g Rmd o R R § et B
(1) .o : @het (2) w9 : T
(8) =i : g (4) wF: dr

89. | Choose the group of letters which is different from c;tl;ers
(1) JLNP | (2) SUWY
3) RTVX | (4) BDFG
el B T S TR ¥ o & A gl ;
(1) JLNP : - ’(2) SUWY
(8) RTVX (4) BDFG

90. | Three of the followingihave 'EL relationship and form a group. Which of

these does not belong to the group ?

1 (1) Fleor : (2) Guest Room
(3) Kitchen S (4) Bathroom
?ﬂ%ﬁﬁqﬁeﬁqmﬁwﬁm%m%ﬁaaﬂﬁ%ﬁ?mwwﬁmaﬁm%
(1) == (2) Head &% -
(3) R : (4) == w4
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91. | How many numbers between 11 and 80 are divisible by 7 ?
1) 10 2) -
@ 9 4 7
Rt wead 1197 803 9w 7@ R & sl ¥ ?
1) 10 ' @ 1
@) 9 | ) 7

92. | When a number is divided by 13 the remainder is 11. What is the number?
(1) 154 2 142
@) 270 4) 399 _
w9 el dear & 13 9 R B o @ @ 11 99 e B 98 den H-d 2 ?
(1 154 (2) 142 |
@) 270 @) 399

93. | Four electronic devices ‘beeps’ after an interval of 30, 60, 90 and 105

minutes, respectively. These beeped tgggther at 12.00 Noon. When will
these-‘beep’ again together ? i i :

(1) 9AM ' £2) 3AM.

L

-

(3) 12midnight . 4 9PM.

IR SOFSIE d5 ST S & 30, 60, 90 3R 105 BT & e W 4v 1@ B
IR T 12.00 A9 & 99 ‘AT B A PRI TR e B9 9 B 7

1) g 9T @ T 3T

@) W 125 (4) M 95w

PG-EE-2013 (Education) Code-C

(27)

"




" Code—(

Q“;,sf"“ , : Questions

94. | Which of the fractions is less than p3 and greater than -~ ?.

4
L 2
) @ 3
&g e

BT R @ 10

ﬁ:rmf@ﬁaaa-mwgameﬂw 2oty

1 . 2
(1) 3 , @ 3
4 Ly
|® 3 T

95. | If one third of a tank holds 80 litres of water then what quantity of water
‘that half of the tank will hold ?

(1) 120litres = '

(2) 100 litres

(3) 240litres gy

(4) 60litres "
| W%W%%ﬁmﬁmﬁsﬁﬁawm%ﬁmmmﬂmw
| : ST ?
| (1) 1207y

(2) 100X
(8) 2407
(4) 607y
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96. | Three numbers ate in the ratioof 4 : 5 : 6 and their average is 25. What is

the largest number of these three ?

(1) 30 2) 45

3 2 4 20

e geand 4: 5 e%mﬁ%mmaﬂwza%mfﬂﬁﬁ%maﬁm
-8 7

o AR s
@ 2% - @ 2
97. | The total of A and B is 12 more than the total of B+ C. How much C is less
than A ? ' '
@ 12 | @ 14
3 15 : 4 24
% AR @H M@ ATF AR 12m%|ﬂ,$ﬁmm%?
(1) 12 ) 2 14
@ .16 @
98. | In a group of dogs and men the number 6f legs are 24 more than twice the

number of hea_t_is then what is the number of dogs in the group ?

1 12 e @ 2 '

@ 48 | & = 54 8 -

a7t o gt & e i A o el 4 wow & A R A z4mes%a@hﬁ;
der e g ?

m 2z . | @ 24

(3 48 @ 8
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99. | The average of five numbers is 27. If one number is excluded then the

average becomes 25. What is the number excluded ?

1 25 @ 2

3) 35 )80
qiaﬁ@raﬁasreﬁaam%iwmwﬁ@?ﬁmaﬁaﬁﬁaﬂm%ww%l
el 8 e A= & 2

1) 25 @ 27

3 35 . 4 30

100.

If average temperature from Monday to Wednesday is 37°C and the average
temperature of Monday and Wednesday is 34°C. Then what is the
temperature of Tuesday ?

(1) -43°C (2 41°C

38) 35°C (4) 384C :
WW@QWEW%WBT@.%WW@T@WH%
A 34° /. B O TR 1 aNE a4 2 ?

(1) 43°3. 2 41°9.

(3) 35°W. 4y 34°7.

#

PG-EE-2013 (Education) Code-C

(30.)




	PG EDUCATION QP. C
	PG EDUCATION QP. C 001
	PG EDUCATION QP. C 002
	PG EDUCATION QP. C 003
	PG EDUCATION QP. C 004
	PG EDUCATION QP. C 005
	PG EDUCATION QP. C 006
	PG EDUCATION QP. C 007
	PG EDUCATION QP. C 008
	PG EDUCATION QP. C 009
	PG EDUCATION QP. C 010
	PG EDUCATION QP. C 011
	PG EDUCATION QP. C 012
	PG EDUCATION QP. C 013
	PG EDUCATION QP. C 014
	PG EDUCATION QP. C 015
	PG EDUCATION QP. C 016
	PG EDUCATION QP. C 017
	PG EDUCATION QP. C 018
	PG EDUCATION QP. C 019
	PG EDUCATION QP. C 020
	PG EDUCATION QP. C 021
	PG EDUCATION QP. C 022
	PG EDUCATION QP. C 023
	PG EDUCATION QP. C 024
	PG EDUCATION QP. C 025
	PG EDUCATION QP. C 026
	PG EDUCATION QP. C 027
	PG EDUCATION QP. C 028
	PG EDUCATION QP. C 029
	PG EDUCATION QP. C 030

